Name:  _________________________		Geometry Homework 
Directions : 
Use your guiding questions to answer the questions.  
Underline the question.
Place all information necessary in the work box from the question.
Create a plan and show your work to solving the problem.
Go back and make sure you answered the question and it makes sense.
 
	 Plot Point S with integral coordinates that lies on a line that is perpendicular to t and passes through point P.
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	 Which pair of points would create a line segment that is congruent to the line segment  created by the endpoints (-2, 2) and (3, -4)?

A	(-1, 0) and (3, 6)
B	(0, -6) and (6, -2)
C	(-1, -1) and (5, 4)
D	(-3, 4) and (3, 0)

	



	What is the measure of a complement of a 48º angle?
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Quadrilaterals

Rectangles’

Which of the following statements must be true about this Venn diagram?

F Al rectangles are rhombi.

‘Some rhombi are rectangles.

Quadrilaterals are not rhombi of rectangles.
All quadrilaterals are rhombi and rectangles.
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